| Efficiency vs Dxy |
> 0.2
<

S C : : 5 5 :
0 0.8 - ; : : S RS
2 : b ]
Y e 1 | 1 St 10 o S
2 C 5 5
S 0.14f - HHHHEL o
5 : :

0.12
0.4 [{/+~

o

©
o
[*2)
TT T TT T[T I T[T T [TTT 17T
-

&

| NHHl i W H HHH\ "
0% T B0

-20 -15 -

=
LI s (L
-

15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.2 —— DQM_pixelCPETemplateCutChiSquareNew?7_step2_ttbar-phasel-newgeom
N . ' T T T
> : : :

2018__ """"" [ T [ pTTTTTTImrreeees )
> r : : : : :
c e FEEEEEEEEEE Seemneeeees Sreeeeeeeees LRI EEEEEEEE -
Q 0.16¢ : : : : :
o - : : : : :
E0.14 o Frrereree frorereeeee A )
(0] : : : : :

PSS A S ——

b |
008

0.06 o
P11 R e o it

002fffl At L
J..LQ -I 11 | i oy Iﬁm’m"’*l* !+||I 11 4 i (I TN

Ratio

l k- SEEEEEE b - & SEREE £ 2 < 5o SRR ER Mk t I © o - RREEE . SRR B B 3

PO | 9 A

%39 =20 -10 0 10 20 _ 30

TP dz (cm)




	Contents
	Page 1


